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Review #2 - Major Topics

Capacitors & Transient Response

Inductors & Transient Response

Capacitor/ Inductor Thevenin Problems
Smusoidal Waveforms, Peak & RMS Values
AC Response & Average Power

Power Factor

Complex Numbers & Phasors

AC Series & AC Parallel Circuits

Circuit Simplification Techniques

AC Thevenin Circuits - E 4, and 7 ,

. Max Power Transfer in AC Circuits
. AC Power & AC Power Triangle

. Power Factor Correction

. RLC Circuits & Resonance

Short Answer #2

. The impedance of an Inductor at steady state when a DC voltage is applied across a

series RL circuitis ¢  ohms.

The impedance of a Capacitor appears to be an ( Short Circuit at steady state
when a DC voltage is applied across a series RC circuit.

. To produce a transient response in an RL or RC series circuit, use a { AC ) signal

voltage applied through a switch.

- Steady State conditions are achieved in response to a transient signal excitation in a series

RC or RL circuit after ( 197 37 @ lime constants.

Current in an RL series circuit { Leads _1 the AC voltage applied across the
terminals of the inductor,

. The formula for calculating the time constant in an RL circuit that has a sudden voltage

applied is (L) T5L*R  TERL ).

. The formula for calculating the time constant in an RC circuit that has a sudden voltage

applied is ( f'/= cR  7=R*CTJ T=RIC ).



13.

14,

15,

The period for an AC sinusoidal voltage of frequency 20 KHZ is:
( 50 msec 5 msec ).

ﬁ/fﬁ radians converts to  ( 60 deg 90 deg ).

. An AC waveform is expressed as v (t )= 100 sin 6283 t in the time domain, This

waveform has a frequency of { 60Hz 100 Hz

Jooo o

. The rectan l.élar expression (3 + j4 ) is equivalent to what in polar form:
( sﬁ 5 [369° G A1),

. The Inductive reactance of a 3mH inductor at DC is: @ S4L. Dpen circuit ).

Steady State conditions are achieved in response to a transient signal excitation in
a series RC or RL circuit with a time constant of 3 seconds in:

a. 3 seconds

b. 10 seconds
¢. 20 seconds
d. 5 seconds

o ;
1112 radians converts to:

a. 30 degrees

b. 60 deorees
0

d. 180 degrees

An AC waveform is expressed as v( t ) =200 sin 377t in the time domain. The RMS
value of the voltage is:

"
b. 200 volis
c. 70.7 volts

d. 377 volts



16. The rectangular expression (4 + j3 ) for Impedance is equivalent to what in polar form:

. Z=35 at 0 degrees

=35 al 36.9 degrees
. Z=5at 53.1 deprees
Z=35a 90.0 degrees

E:"‘"“ IS"'FC'

I ?, False A lagging Power Factor means the circuit is inductive

18. True Adding a DC voltage to an AC waveform changes the period of the
AC waveform.

IQ,@J False An AC waveform is applied to a purely capacitive load. The phase
angle of the current through the inghfefor will be = + 90 degrees.

+

20. True f At Resonance, the Impedance of an RLC circuit is purely inductive.
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